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: Candidates are required to give their answers in their
own words as far as practicable.

Nlustrate the answers wherever necessary.

Answer any five questions : 5x4
{a) What do you mean by bonus shares ? When does a

company issue bonus shares?

{Tum Qver)



(c)

(d)

(h)

G

—

What do you mean hy ‘ex-interest’, ‘cum-interest’, ‘ex-
dividend’ and ‘cum-dividend’ in relation to

investment ?
What are the needs of valuation of goodwill ?

Write a note on IFRS convergence.

Distinguish between external reconstructic . and

internal reconstruction.
State the differences between shares and debenti.res.

Write a note on ‘insured standing charges’ a. 1
‘standard turnover’ in relation to loss of profits

insurance.

Mention different methods of valuation of shares in

a company.
Write a note on redemption of debentures.

State in brief the objectives of Accounting Standards

Board in India.
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2. Answer any five questions : 5x8

|
{a) State the need for IFRS.

(b) X Ltd. issued 1000 equity shares of Rs. 100 each. The

share capital is to be collected as .undcr :

- On Application  Rs. 25

. On Allotment Rs. 20

Q. S On First Call Rs. 30
On Final Call Rs. 25

»

All the shares were subscribed and all the money were
received excepting final call money for 80 equity

shares. Show the Necessary Journal Entries.

4 | (¢) A Ltd. issued 500, 10% Debentures of Rs. 100 each.
| Give journal entries if the Debentures are (1) issued

at par (2) issued at a discount of 5% and (3) issued
i at a premium of 10%. Also show the necessary
| enrtries if debentures are repayable at a premium of

| 5% when they are issued at par or at discount.

(d) A company has 20,000 Equity shares of Rs. 100 each
and 18,000, 7% preference shares of 100 each both

fully paid up.
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It is decided to :

(il reduce equity shares to Rs. 10 each.

(i) reduce preference shares to Rs. 80 each, dividend
being raised to 8%.

(iii} forfeit outstanding Debenture Interest of
Rs. 52,000 money thus available would be
utilised to write off debit balance of Rs. 8,00,000
in P&L A/c. and write down stock by Rs.
3,00,000. For this purpose ‘Other Fixed Assets’

may also be written down.

(¢) Discuss the ‘Super Profits’ method of valuation of

goodwill.

(fi The follewing information is available from B Ltd. as

at 31lst March, 2018 :
Capital :

1000, 3% Preference Shares of Rs. 100 each fully
paid — Rs. 1,00,000

2000 Equity Shares of Rs. 100 each fully paid
— Rs. 2,00,000
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. Reserves & Surplus — Rs. 2,00,000

| 6% Debentures — Rs. 1,00,000

l‘ Current Liabilities — Rs. 1,00,000
Assets :

i Fixed Assets — Rs. 4,00,000

ll _Current ‘Assets Rs. 3,00,000

For the pufpose of valuation of shares, fixed assets
and current assets are to be depreciated by 10%' ;
Interest on debentures is due for 6 months ;
preference dividend is due for the year. Neither of

these has been provided in the Balance Sheet.

| Calculate the value of each Equity Share.
!
|
{(g) State the conditions for ‘Amalgamation in the nature

| of Merger’ and ‘Amalgamation in the nature of

‘ . Purchase’.
|

. (h) Write a note on harmonisation of Accounting

Standards.
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3. Answer any two questions : 2x15

(a} Two companies carrying on similar business enter
into a contract to amalgamate and form a new
company called Ancient Company Ltd. The new
company will take over the assets and liabilities of
both the companies. Given below are the respective
Balance Sheets of existing coinpanies. It is also agreed
that fully paid Rs. 50 shares shall be issued by the

new company to the value of the net assets of the old

comparies.
Balance Sheet
Liabilities A Ltd B Ltd Assets A Lid B Lid
Equity Share Property 95,600 75,000
Capital 2,50,000 2,00,000 Machinery 90,000 ' 1,00,000
Reserve Fund — 50,000 Stock 75,000 45,000
Profit & Loss Afc . — 10,000 Debtors 11,000 35,000

Sundry creditors 41,000 30,000 Cash in hand 20,000 35,000

2,91,000 2,90,000 ' 2,91,000 2,90,000
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Pass the closing journal entries in the books of vendor

companies.

Give the opening entries in the books of new

company. Also show the Balance Sheet of the new -

' company. (4% 2)+4+3

(b) (i) A fire occured on March 1, 2017 in the premises
|

of Z Ltd. and the business was practically

disorganised for five months. The company is

insured under a loss of profit policy for

Rs. 9,90,000. You are required to compute the

amount of claim under the loss of profit policy

after considering the following information :

i.

ii.

ii,

iv.

Turnover for the year 2016 — Rs. 20,00,000

Turnover for the year ending 28.02.2017
— Rs. 44,00,000

Net profit for the year 2016 — Rs. 1,45,000
Increased cost of working — Rs. 1,50,0G0

Insured standing charges — Rs. 2,95,000
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vi,

viii.

Savings in insured standing charges

— Rs. 30,000
Total standing charges — Rs. 4,05,000

Turnover during the period of dislocation

-— Rs. 8,00,000

Turnover for the corresponding period in the

preceding year — Rs. 12,00,000

{ii) Distinguish between loss of stock insurance and

loss of profit insurance. 12+3

{c) (i} Write a note on ‘book building process’.

{ti) State the process of formulation of Accounting

Standards in India. 8+7

[Internal assessment — 10 marks]
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(i) 5393t a0 ofS o Rs. 10 B0F A

(ii) =6 Preference Share-ag & FTA Rs. 80 FF I

¢ foferorea 217 @UT 8% 24|
(i) Rs. 52,000 LI A9%(a 37 AfoeT 31 24|

GFSIF (7 o4 S FA S P/L A/c-4F Rs. 8,00,000 Dr.
FETH TS, WA AT FT Rs. 3,00,000 FUS IR

Q| IURGE ‘Other Pixed Assets'8 T T AN |
(&)  FFICNF YEHHCAT ‘Super Profits’ Aol SEG 37|

(5) 3108 WE 2018-(F (9% 2SA AT & B. Ltd,-a%
frafefie owafd siveat o ¢

Je74+ ¢
256 Rs. 100 CETT 1000f% 5% Preference Share
— Rs. ,00,000

#f$f6 Rs. 100 e07 2000( <[##%S Equity Share

— Rs. 2,00,000
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Balance Sheet

Liabilities A Ltd B Ltd Assets A Ltd B Ltd
Equity Share _ -Property . 95,000 75,000
Capital 2,50,000 2,00,000 Machinery 90,000 1,00,0_00
Reserve Fund — 50,000 Stock 75,000 45,000
Profit & Loss Ajc | - 10,000 Debtors . 11,000 35,000

Sundry creditors 41,000 30,000 Cash in hand 20,000 35,000

2,91,000 2,90,000 2,91,000 2,90,000
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H) () 2017 FAER 1 W6 Z Ltd. -7 ILIHT SEH AT @
: Feramel AGAN oiie Tedma (Rige =11 @=4R%

| AR BRoTER SWERE 99 Rs. 9,90,000 07 |
fFrafeiRe wpalem ATATE g Fo=@ma 0w 79 2

(3) 2016 AET [Fw — -+~ Rs. 2,00,000

() 28.02.2017-(% (417 e I [gm —

Rs. 4,40,000

(9) 2016 ACeTa o T — Rs. 1,45,000

(8) FFT=ImIT 77 I — Rs. 1,50,000

(¢) INFS §iea 08 — ' Rs. 2,95,000
(v) TS §ie A T —  Rs. 30,000

|| (2) (T pfeam I — Rs. 4,05,000
i (v) FrelTR SeoAve Riye 269@ FAweter Ken —
Rs. 8,00,000

(») =778 =04 @ FCAF {FW —  Rs. 1,20,000

(i} Loss of stock insurance ¢9% Loss of profit

insurance-gd W4 «ILFF FFsd 91 Y3+9
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